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.RQVHS� 0DTDVKLG� 6\DULDK� ,QGH[� PHUXSDNDQ� VDODK� VDWX� LQGLNDWRU� NLQHUMD� \DQJ� GDSDW�

PHQMDGL�DODW�XNXU�SHUEDQNDQ�V\DULDK�EHVHUWD�SHQJJDPEDUDQ�NHDGDDQQ\D�NDUHQD�NRQVHS�0DTDVKLG�

6\DULDK�,QGH[�WXUXW�PHPSHUWLPEDQJNDQ�DVSHN�RULHQWDVL�GDQ�NDUDNWHULVWLN�SHUEDQNDQ�V\DULDK�\DQJ�

EHUEHGD� GDUL� SHUEDQNDQ� NRQYHQVLRQDO� $ODW� XNXU� NLQHUMD� SHUEDQNDQ� NRQYHQVLRQDO� GLDQJJDS�

NXUDQJ WDMDP�GDODP PHQJXNXU NHDGDDQ�SHUEDQNDQ�V\DULDK�\DQJ�VHKDUXVQ\D�WXMXDQ�DWDX�REMHNWLI

SHUEDQNDQ�V\DULDK OHELK�EHUVLIDW�PXOWL�GLPHQVLRQDO��DUWLQ\D� WLGDN�KDQ\D�EHURULHQWDVL�SDGD�DVSHN�

ILQDQVLDO� VDMD� 3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN�PHQJDSOLNDVLNDQ� NRQVHS�0DTDVKLG�6\DULDK� ,QGH[�

XQWXN�PHQJXNXU NLQHUMD� SHUEDQNDQ� V\DULDK� EHUGDVDUNDQ� WLJD� DVSHN�� \DLWX� DVSHN� ORNDVL�� PRGDO��

GDQ�NHSHPLOLNDQ�

3HQHOLWLDQ� LQL� PHUXSDNDQ� SHQHOLWLDQ� NXDQWLWDWLI� GHVNULSWLI� GHQJDQ� VDPSHO� SHQHOLWLDQ�

EHUXSD����SHUXVDKDDQ�SHUEDQNDQ�V\DULDK�GL� ,QGRQHVLD�GDQ����SHUXVDKDDQ�SHUEDQNDQ� V\DULDK�GL�

$UDE� 6DXGL� GHQJDQ� GDWD� ODSRUDQ� NHXDQJDQ� \DQJ� OHQJNDS� VHUWD� GDSDW� GLDNVHV� GDUL� WDKXQ� �����

VDPSDL�GHQJDQ�WDKXQ�������9DULDEHO�RSHUDVLRQDO�\DQJ�GLJXQDNDQ�GDODP�SHQHOLWLDQ�LQL�DGDODK�WLJD�

REMHNWLI� �SHQGLGLNDQ�� NHDGLODQ�� GDQ� NHVHMDKWHUDDQ�� GLWXUXQNDQ� VDPSDL� EHUXSD� VHSXOXK� UDVLR�

NHXDQJDQ�\DQJ�GDSDW�GLKLWXQJ�EHUGDVDUNDQ�GDWD�GDUL� ODSRUDQ�NHXDQJDQ� +DVLO�GDUL�SHQHOLWLDQ�LQL�

PHQXQMXNNDQ� NHVLPSXODQ� EDKZD� WHUGDSDW� SHUEHGDDQ� \DQJ� VLJQLILNDQ� DQWDUD� NLQHUMD� SHUEDQNDQ�

V\DULDK� \DQJ� GLXNXU� GHQJDQ� NRQVHS� 0DTDVKLG� 6\DULDK� ,QGH[� EDLN� EHUGDVDUNDQ� DVSHN� ORNDVL��

PRGDO��DWDX�SXQ�NHSHPLOLNDQ�

.DWD�.XQFL�� NLQHUMD� SHUEDQNDQ� V\DULDK�� 0DTDVKLG� 6\DULDK� ,QGH[�� ORNDVL�� PRGDO� LQWL��

NHSHPLOLNDQ


